Dividieren von Dezimalzahlen - Lösung
Führe folgende Rechnungen durch:
1. 19,32 : 7 = 2,76
2. 4,707 : 9 = 0,523
3. 258,5 : 11 = 23,5
4. [bookmark: _GoBack]119,6 : 13 = 9,2
5. 7,56 : 12 = 0,63
6. 378,24 : 6 = 63,04
7. 1 233,4 : 7 = 176,2
8. 28 380,75 : 3 = 9 460,25
9. 63 200,625 : 5 = 12 640,125
10. 9,6 : 15 = 0,64 

Gib die Vorkommastellen des Quotienten an:
Beispiel:  246 : 7 = 35,              4,45 : 5 = 0,
1.  8,943 : 9 = 0,
2.  647 : 8 = 80,
3.  9 480 : 4 = 2 350,
4.  8 000 : 3 = 2 666,
5.  7,99 : 3 = 2,
6.  1 100 : 7 = 157,
7.  105 : 6 = 17,
8.   0,5 : 5 = 0,
9.  45 : 9 = 5,
10. 345,6 : 2 = 172,
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